
Reservedelsliste DCGG571 CORDLESS�GREASE�GUN 1

Detalj
e

Artikelnummer Antal Artikelbeskrivelse Almen�beskrivelse Øvrig
information

Reperationsi
nstruktion

MARKEDE
R1 682211-00 8 SCREW �� No

2 330045-45 12 SCREW M4�x�12�-�T20�Black �� No

3 330045-15 4 SCREW M5�X�20�T25�THD�FORM �� No

4 N365766 1 TRANSMISSION�SA �� No

5 N399287 1 CLAMSHELL�SET �� No QW

6 N262579 1 BUTTON�LOCK-OFF �� No

7 N400745 1 COVER-TOP �� No

8 N439829 1 SWITCH�SA EURO�EMI �� No QW

9 324006-14 2 SCREW M4x12 �� No

10 N447228 1 MOTOR�&�PINION �� No QW

11 N365758 1 SWITCH�SA �� No

12 N279401 1 LENS �� No

13 N279402 1 BUTTON�ON �� No

22 N365753 1 CRANK �� No

24 N365759 1 PUMP�SA �� No

28 N365754 1 FILTER �� No

29 N365762 1 VALVE�KIT �� No

33 N376852 1 BUMPER �� No

35 N391355 1 VALVE �� No

36 N151493 1 PLUG �� No

37 N365752 1 HOSE�SA INCL�53�� No

38 N365757 1 WASHER�SPECIAL COPPER �� No

39 N365761 1 VALVE�KIT �� No

40 N365756 1 WASHER�SPECIAL COPPER �� No

41 N365763 1 TUBE�SA �� No

42 N365764 1 CLIP�SA �� No

44 N334999 1 MOUNTING�BRACKET �� No

46 330019-24 2 SCREW M3�X�19 �� No

47 N332820 1 STRAP �� No

48 N340519 1 SPACER �� No

50 N330300 1 RATING�PLATE EURO �� No QW

52 N398835 1 BRAND�LABEL 18V�EURO �� No QW

53 N379370 1 COUPLING �� No

Page�1



Reservedelsliste DCGG571 CORDLESS�GREASE�GUN 1

Detalj
e

Artikelnummer Antal Artikelbeskrivelse Almen�beskrivelse Øvrig
information

Reperationsi
nstruktion

MARKEDE
R800 5140061-28 1 GREASE 400gms�-�14�oz �� No

856 N379370 1 COUPLING �� No

856 N365752 1 HOSE�SA �� No

861 N295353 1 KITBOX �� No

866 N195933 1 BATTERY�18V�-�4.0AH�-�72WH Li-Ion�-�DCB182-XJ �� No QW

871 N450536 1 CHARGER�(EURO) DCB115-QW�-�4.0A �� No QW

Page�2


